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QUESTION 1
Which is the best way to model the object "Price?" There are 2 correct answers.
A. If the price of an object changes slowly, model it as a navigational attribute.

B. If the desired result is the price paid by a customer at the time of the Transaction, model price as a calculated Key
Figure.

C. Leave it out of the data model.
D. If the price of an object changes slowly, model it as a display attribute.

Correct Answer: AB

QUESTION 2

How are non-cumulative Key Figures calculated? (2)

A. They can utilize a virtual Key Figure to combine inflows and outflows

B. They are designed in Business Explorer queries

C. They can utilize two virtual Key Figures to represent inflows and outflows
D. Their calculation is accomplished in Transformations

E. They can utilize a virtual Key Figure to combine inflows and outflows

Correct Answer: C

QUESTION 3

Standard DSO Objects consist of which of the following tables? (1)
A. Activation Queue, Active Data and PSA

B. Active Data, Change Log and PSA

C. Change Log, Activation Queue, PSA

D. Change Log, Activation Queue, Active Data

Correct Answer: D

QUESTION 4

Which of the following are true about generic DataSources? There are 3 correct answers.
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A. They can NOT be enhanced with additional fields after creation.
B. They are can be defined with delta capability.

C. They are can be used with real-time data extraction.

D. They are replicated by process chain.

E. They can be defined with filter criteria.

Correct Answer: BCE

QUESTION 5

Which of the following are features of the Write-Optimized DSO? (2)
A. They utilize the single Active Data Table

B. They are intended to contain aggregated data

C. They enable mass data loads

D. They utilize a semantic (business) key for record uniqueness

Correct Answer: AC

QUESTION 6

You are not able to delete a request from a DSO. What best describes the situation? Select the correct answer

A. The request has been compressed.

B. The request is contained in an Aggregate.

C. The request is contained in a subsequent InfoProvider.
D. The request must be deleted selectively.

Correct Answer: C

QUESTION 7

Which of the following definitions of a DSO is true? (1)

A. DSO Objects are subsets of an InfoCube\\'s data

B. DSO Obijects are equivalent to aggregates

C. DSO Obijects contain consolidated data at the atomic level

D. DSO Objects are unique to OLTP Systems
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Correct Answer: C

QUESTION 8

Which of the following does the data propagation layer of your SAP BW system offer? (2)
A. Ability to extract once and deploy many times

B. Fast load of mass data

C. A single version of the truth

D. Homogenized data

Correct Answer: AC

QUESTION 9

What are the features of using the Operational Data Provisioning (ODP) Infrastructure in BW 7.4? There are 3 correct
answers.

A. Extract once and deploy many times.

B. Relies on the proven Delta Queue technology.

C. High compression rate up to 90% of extracted data.
D. Single point of monitoring.

E. Makes complete use of mandatory PSA\'s.

Correct Answer: ABD

QUESTION 10

Partitioning can be used to either aid query response time or manage large amounts of InfoCube data.
Which of the following statements are true about InfoCube patrtitioning? There are 2 correct answers.
A. Logical and table partitioning cannot be combined.

B. The Analytic Engine can do partition pruning.

C. Table partitions are based either on OCALMONTH or OFISCPER.

D. The Repartitioning toolbox can be used with logical partitioning.

Correct Answer: BCD
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QUESTION 11

The Air Force orders 10 F-14\\'s for deployment on Monday. This data is loaded to an InfoCube. Then the office
requests 2 more fighters, for a total of 12. The new after image data is also to be loaded to the InfoCube. However, you
receive an error on the InfoCube update. What could be the issue? Select the correct answer.

A. The Transformation should be set to overwrite.

B. The DTP should be set to Full update.

C. The after image needs to first be loaded in a DSO.

D. The InfoPackage should be assigned to a daemon.

Correct Answer: C

QUESTION 12

Which of the following are true regarding BW Data Modeling? There are 3 correct answers.

A. BW objects are created with reference to administrative needs.

B. Reporting requirements are the necessary starting point.

C. Different types of reporting end-users can be ignored.

D. Reference to BW Business Content should be conducted during the development of the data model.
E. Business Content does not need to be activated.

F. Reporting requirements are the necessary starting point.

Correct Answer: DE

QUESTION 13

Which of the following does the data propagation layers of your SAP BW system offer? There are 2 correct answers.
A. Ability to extract once and deploy many times

B. Fast load of mass data

C. A single version of the truth

D. Homogenized data

Correct Answer: AC

QUESTION 14

Data is loaded via a process chain to an Open Hub destination table. When this table data is then loaded into a non-
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SAP operational system, it is found that records are duplicated over time. What action should you take to resolve this?
Select the correct answer.

A. Configure a technical key for the destination table.

B. Configure the destination table to be recreated on load.
C. Configure a semantic key for the destination table.

D. Switch the destination to a flat file in XML format.

E. Configure a semantic key for the destination table.

Correct Answer: C

QUESTION 15

The hierarchy framework allows the DataSource to read the hierarchy structure based on which setting? Select the
correct answer.

A. The hierarchy is version-dependent.
B. The hierarchy is sorted.

C. The hierarchy reverses +/- nodes.
D. The hierarchy is flexible.

Correct Answer: D
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